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. [sec*xtanxdx=...... | o = srbote )
@) isec5x+c 5+u~°\5% ©)
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Find the maximum area for the isosceles So\luze Edid) Aol ST ol
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Find the area of the region bounded by the | o 8y seamell dalatadl d>lue sl
two curves: y = x?,y = 4x . o B 0P T P el
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Find the volume of the solid generated by o =l v——eJ‘ > A5
revolving the region bounded by the two | ox &9—amwdl ddaidl Ol 53

curves : V=0 T E 0P )
y = x%,y = 2x a complete revolution ALl 3 90 el 5e J >

about the x-axis .
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6 Answer one of the following items 1 GO G0 paal S e o
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i oS a1 (1)
(a) Find f32+1 V4Tt 1
(b) Find: [— dx oS “:; ST
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&l fy=xsinx, el el =2 06 13
prove that : !
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4 4 x 22y =0 LTt
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A rectangle of length 24 cm and width AR TR TAL dob et
10 cm ,If its length shrinks at a rate of i O/t Jdaey sk adlny
2 cm/sec .while its width increases at a </ N0 Jdae a2,e Wl
rate of 1.5 cm/sec .find the rate of change e s Al 5 Juae sl
of its area at the end of 4 seconds ,After 55 g el sl V’ Olg €
how many seconds does the area stop ) e ALl ad
increasing?
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If f:]_1'4‘[_)R;f(x)=x3—3x,then <C<—]£¢\—[:>CA3\§\S!
the number of the critical points for the Laldlsae o (o V- Tw= () 5
function f equals .......... g Sl > Al Ao o)

@  zero b 1 VO e
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If the curve ¥ = x3 + a x? + bx has an ol O 13
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The maximum value for the expression: SRRV SRR\ P Y
4x — x*where x ER is..... | AT Do
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Answer one of the following items
(a) Determine the maximum and the mini-
mum local values for the function f
such that: f(x) =x3 - 3x? — 9x, then
determine the inflection point (if exists)
for the functionf .

(b) Find the absolute extrema values of the

function f such that:
f(x) = 10xe™, x € [0,4]
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